) COy(g)+ H,O0)— C;H,y0;(aq) + Oy (g) (AN ,5555)
Y) Na,O,(s)+ H;Od)— NaOH(aq) + O(g) (AA H95C5)
¥) SiOy(s)+ C(s) —> SiC(s)+ CO(g) (AA 4s505)
f) CaSiO;(s) + HF(aq) » CaF,(aq) + SiF¢(g) + H,O) (AN ;355)
&) ByOy(s) + Cly(g) > BCly(D)+ O (g) (AN 4s55)
#) HyS(g) + Oy(g) —> SO (g) + HiO(g) (AN s5S)
V) NHy(g) + Oy(g)—> NO(g)+ HO(g) (AN 59S)
A) AgNOy(aq)+ MgCli(s) > AgCl(s) + Mg(NOy ) (aq) AA 455)
1) HyO0)— Hi(g)+ Oy (g) AN ;55CS)
\+) Ply(s) + HOd)—> HPOy(aq)+ HI(aq) (AN ,55C5)
W) LiAlH,(s)+ H,Od)— LiOH(aq) + AKOH)(s)+ H(g) (AN ,955)
\Y) Fe,Oy(s)+ HCl(aq) (AN ,95C5)
') NyO, (@) + H;O) — - (AN ,55C5)
\¥) BaCly(aq) + Al (SO¢)r(aq) - BaSOx(s) + AlCl¢(aq) (AN 45525)
1) NHy(g) + Cly(g) - NH(Cl(s) + NCly(g) (AA ,e5C5)
1#) Fe(s)+ HyO(g) > Fe O (s) + Hi(g) (AN 45CS)
\v) TiCly) + LiH(s) — Ti(s)+ LiCl(s) + Hy(g) (AN ,6505)
\A) PCly(s) + H/O)—» HClg)+ HiPOs(aq) (AN ,5505)
14) CeHy(2) + Oy(g) > COy(@) + H O(g) (A1 ,4505)
Y-) NH,CH,COOH®) + O(g)—> CO(g)+ Ny(g)+ H;O(g) (A1 ,55)
YY) Fes)+ HyO) + Oy(g) > Fe(OH)(s) (A1 ,5CS)
YY) NHe(g)+ Fy(g) > NyF¢(g)+ HF(g) (A1 ,e5C5)
YY) SOCL Q) + H,O(l)i SOy (g) + HCl(g) (A1 ,95S)
Yf) ClFy(g) + NHy(g)—> N;(g)+ HF(g) + Cli(g) (A1 ,4505)
Yd) NaHCO‘-(s)i Na,CO(s) + CO(g)+ H,O(g) (A ,65)




Y#) NaHCOy(s) + HySO¢(aq) > Na,SO¢(aq) + COy(g) + HO() (A3 ,555)
YY) BaO(s)+ COy(g) > BaCOy(s) (A3 )5Cs)
YA) Na,SO¢(aq) + CaCly(aq) > CaSOx(s)+ NaCl(aq) (A3 ,4CY)
Y4) FeCly(aq) + NaOH(aq) > Fe(OH),(s) + NaCl(aq) (A2 g 9A ;55C5)
¥+) CuO(s)+ HCl(aq)—> CuCli(aq)+ H, O (A3 ,9C)
V) Na,SiO(s) + HF (aq) > H,SiF;(aq)+ NaF@aq)+ H,O®D) (A ,95C5)
YY) FeiOr(s) + C(s)i Fed) + CO(g) [CRPyL ety
YY) MnOy(s) + HCl(aq) > MnCli(aq) + Cly(g) + H/OD) (A9 ,55)
Y¥f) Cli(g) + KBr(aq)—> KClaq)+ Br,d) (A3 ,455)
Y8) CSy() + O¢(g) = COy(g) + SOy(g) (R4 )s5C5)
v#) NHe(g) + O¢(g@)—> Ny(@+ H,OD) (A2 ,5C5)

YA) K(CryOy(aq) + BaCli(aq) + H;O()—> BaCrO¢(aq)+ KCl(aq) + HCl(aq) (33 ,s55)

v4) Fe(OH)(s) + HyOI) + Oy(g) - Fe(OH)(s) (A4 ,5525)
f+) AIIOH)(s) + H\SO¢(aq) > AL(SO¢)(aq) + H,O®D) (43 ,4C)
V) P:O,.(s)+ H;Ol) > HPO«(aq) (Fee 55505)
fY) SF¢(g) + H/O0) — SOy (g)+ HF(g) (Fee 929 ,550)
FY) FeS¢(s) + Oy(g) > FeyOr(s) + SOy(g) (Fer )53)
f¥) HNO(aq) > NO, (g + O,(g)+ H,O(g) (Fee ,9555)
f8) Co(OH)(s) + HiSO¢(aq) > Coy(SO¢)r(aq) + H/OD) (Fer ,9505)
f7) NiCO:(s) + HyPO¢(aq) > Niy(POy)(s) + COy(g) + H/OD) (Fer ;9508)
fV) MgCOy(s) + HNO¢(aq) > Mg(NOy)(aq)+ COy(g)+ HyOD) (Fer 5a50S)
FA) AL (SO¢)(s)+ Ca(OH) () —> AIOH)(s) + CaSO¢(aq) (Fee 59505)
f4) MgCO,(s)+ HSO¢(aq) > MgSO¢(aq)+ COy(g)+ H,O0) (Fer ,9505)

6+) KOH(aq) + HyPO¢(aq) > K(POs(aq)+ H,O®D)

(f" ),Su:)




&) CyH,OH 1) + Oy(g) > COy(g)+ HOD) (Fer yoSSS)
oY) Na,CO,(s) + HCl(aq) > NaCl(aq) + CO,(g)+ H,O0) (Foo 5o5CS)
AY) Al (SOy¢)(s) > Al Oy (s) + SO (g) (Foo ,45a5)
OF) Fe Oy (s)+ Al(s)—> Fed)+ AlyOy(s) (Fer 939,555)
88) NyO,(g) > NO(g)+ O (g) (Fer ,9555)
&6#) HBr(aq) + Ba(OH)(aq) - BaBry(aq) + H,O1) (For ,9505)
AY) Cay(POg)(s)+ SiOy(s)+ C(s)—> Pe(g) + CaSiOe(s) + CO(g) (Fer ,950S)
OA) Car(POg)(s) + HiSO¢(aq) > HPO¢(aq) + CaSOk(s) (Feor 49505)
6%) HNOy(aq) + HI(g) > Ii(s)+ NO(g)+ HyO) (Fer )e5CS)
#+) Na;SO¢(aq) + BaCly(aq) > NaCl@ag) + BaSO:(s) (Foe ;9505)
#1) NOy(g) + Cly(g) > NOCl(g) (Feor ,9508)
#Y) KClOy(s) > KCl(s) + Oy (g) (Fer )9505)
#Y) (NH¢xCryOy(s) > CryO¢(s) + Ny(g) + HyO(g) (Fee 195CS)
#¥) Zn(OH)x(s) + HPO¢(aq) - Zn: (POy)y(aq) + H,O(1) (Feor ,5555)
#8) Ce.Ha(s) + Oy(g) > HyO(g) + COy(g) (A1 ,65C5)
77) (C;H\.Oa)n(S);i;. Cs)+ HyO(g) (AN ,e555)
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V) Bi(s) + HNO¢(aq) »> Bi(NOy)(aq) + NO(g) + H,O() (AA 59555)
Y) SCly(g) + NaF(g)— SF¢(g)+ S;Cli(g) + NaCl(s) (A3 ,4505)
¥) Iy(s) + HNOy(aq) - HIO:(aq)+ NOy(g) + HyO®D) (A3 ;95C5)
f) Cu(s)+ HNOy(aq) > Cu(NOyx(aq)+ NOy(g)+ HOD) (A9 ,e55)
UiKali1l U9 1U949U059
&) Cu(s)+ HNO¢(aq) > CuNOy)x(aq)+ NO(g)+ HO®D) (Fer ,555)
#) S(¢s)+ HNO,(aq) > H,SO¢(aq) + NO(g) + H,O) (Fer yo5aS)
¥) Cr(s) + HiSO¢(aq) > Cry(SOy)r(aq) + SOy(g) + H,O) (Frr 5o50S)
M Ag(s)+ HSO¢(aq) > Ag,SO¢(aq) + SO (g) + H/O) (Fee ,95)




V) It(s) + ClOy(aq) + H/O() — 10y (aq)+ H'(aq)+ Cl (aq) (A1 ,455S)
Y) Pb(OH)y (aq) + ClO™(aq) > PbOy(s)+ Cl'(aq)+ OH (aq)+ H,O0) (A] ,45CS)
Y) I'(aq) + MnO¢ (aq) + H/Od) —> MnOy(s) + Ii(s)+ OH (aq) (For 195CS)
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